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QUESTION 1
Many projects share the same permission scheme and workflow scheme. The requirements in those projects are:

Only Translators should be able to use the Translation workflow transition. The same team of Translators work across
all the projects.

How should Translators be configured to meet these requirements?
A. As a group

B. As single users

C. As a Group custom field

D. As a User custom field

E. As a project role

Correct Answer: E

Reference: https://confluence.atlassian.com/adminjiracloud/configuring-projects-776636280.html

QUESTION 2

Tom has asked you why the numbers returned by his searches are not right. He shows you three JQL queries:

JQL Number of Results
@ project = "Cake baking" 42

@ project = "Cake baking" and fixVersion =1.1.0 6

@ project = "Cake baking" and fixVersion != 1.1.0 22

How can you fix this?

A. Change the query to project = "Cake Baking" and fixVersion ~ 1.1.0.

B. Change the query to project = "Cake Baking" and ( fixVersion is empty or fixVersion = 1.1.0).
C. Rename the versions so they do not contain periods.

D. Identify the missing issues and change the permissions so that everyone can see them.

E. Change the query to project = "Cake Baking" and fixVersion not in (1.1.0).

Correct Answer: D
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QUESTION 3

Your project has three issue types that share a common workflow.

Which reason would make you recommend the implementation of separate workflows for each issue type?
A. The issue types need different sets of priorities.

B. Each issue type uses a different issue security level.

C. Different project roles are working on the issue types.

D. One of the issue types needs a new status.

E. The issue types need different sets of resolutions.

Correct Answer: B

QUESTION 4

You have just deployed a new Support Workflow and Support Notification Scheme. Manager Maria should be receiving
notifications when users click the Escalate workflow transition, but she is not.

Identify two possible reasons Maria is not receiving the notifications. (Choose two.)

A. Maria is not listed in the right custom event of the Support Notification Scheme.

B. The Escalate workflow transition is firing the wrong event.

C. The right custom event has been deleted from the Support Notification Scheme.

D. Maria is not listed in the Issue Escalated (System) event of the Support Notification Scheme.
E. The Escalate workflow transition is firing the right event, but the event is marked Inactive.

F. The Escalate workflow transition is firing the right event but uses the wrong email template.

Correct Answer:. CF

QUESTION 5

Your marketing company wants to evaluate Jira and purchased a 10-user license. A frequently changing group of key
stakeholders ?both internal employees and external customers ?will participate in the evaluation.

If the evaluation is successful the company wants all 50 employees to start working with the tool.

You have to manage the frequently changing group of stakeholders and need to make sure only the intended users
participate in the evaluation.

How should you meet these requirements?

A. Create and manage the users for stakeholders manually in the internal directory.

ACP-100 PDF Dumps | ACP-100 Practice Test | ACP-100 Braindumps 3/4


https://www.passapply.com/acp-100.html
https://www.passapply.com/acp-100.html
https://www.passapply.com/acp-100.html

VCE & PDF https://www.passapply.com/acp-100.html
2024 Latest passapply ACP-100 PDF and VCE dumps Download
PassApply.com

B. Connect Jira to your internal LDAP directory and whitelist the IPs of stakeholders.
C. Enable public signup and CAPTCHA but limit account creation to stakeholders.
D. Disable public signup and grant all project permissions to Group Anyone.

Correct Answer: D

ACP-100 PDF Dumps ACP-100 Practice Test ACP-100 Braindumps

ACP-100 PDF Dumps | ACP-100 Practice Test | ACP-100 Braindumps 4/4


https://www.passapply.com/acp-100.html
https://www.passapply.com/acp-100.html
https://www.passapply.com/acp-100.html
http://www.tcpdf.org
https://www.passapply.com/acp-100.html
https://www.passapply.com/acp-100.html
https://www.passapply.com/acp-100.html

